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Instructions : (1) There are only five questions.

1. (a)
(b)
1. (a)
(b)
2. (3
(b)
2. (q)
MC-01

(2) Each question carries equal marks.

“Retained earnings are cost free funds.” Do you agree with the statement ? Give your
reasons.

Describe the various concepts of cost of capital.
OR
Explain in detail the weighted average cost of capital.

ABC Ltd. gives the following information :

Operating profits (EBIT) Rs. 100 lakhs

Equity share capital Rs. 200 lakhs
(Rs. 10 per share)

Reserves and surplus Rs. 100 lakhs

15% Debentures of Rs. 100 each Rs. 200 lakhs

The market price of equity share is Rs. 12 per share and debenture is Rs. 90 per
debenture. Income-tax rate is 40%.

Find out :
(i) What is the earning per share (EPS) ?

(i)  What is the percentage cost of capital to company for the debenture funds and
equity funds ?

State the ideal characteristics of capital structure and discuss the determinants of
capital structure.
Describe critically Modigliani-Miller approach to capital structure.

OR

Companies ‘X’ and ‘Y’ are identical in all respects including risk factors except for
debt/equity, “X’ having issued 10% debentures of Rs. 18 lakhs while Y’ has issued
only equity. Both the companies earn 20% before interest and taxes on their total
assets of Rs. 30 lakhs. Assuming a tax rate of 40% and capitalisation rate of 15% for
an all-equity company.

Compute the value of companies ‘X’ and “Y’ using —
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(b)

(b)
3. (3@
(b)

4. (a)
(b)

4. (a)
(b)

(i)  Net Income Approach and
(i)  Net Operating Income Approach.

“Leverage may be defined as trading on equity.” Discuss this statement and explain
the effect of leverage on shareholders’ risk.

The following information is available from XYZ Ltd. :

Selling price per unit (Rs.) 20
Variable cost per unit (Rs.) 15
Total production in units ~ (Nos.) 25000
Fixed cost (Rs.) 40000
Interest (Rs.) 25000
Tax rate (%) 40%
Number of Equity Shares  (Nos.) 9000
Calculate :
(1) EBIT (i) EPS
(iii)  Operating Leverage (iv) Financial Leverage

Explain the relationship between EBIT — EPS.
OR

State the importance of dividend decision in financial management. Explain the
various types of dividend policies.

Distinguish between financial lease and operating lease.

What is working capital ? Discuss the factors affecting working capital management.
Discuss the utility of cash budget as a tool of cash management.

OR
What is optimum credit policy ? Distinguish between liberal and strict credit policies.
What are costs of holding inventory ? Explain Economic Order Quantity (EOQ).

5. Write notes on (any two) :

(@)
(b)
(©)
(d)
(€)

MC-01

Modern Approach of Business Finance.
Cost of Debts.

Net Operating Income Approach.
Factors Affecting Dividend Decision.
Benefits and Limitations of Leasing.
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